LOSUNG zu bsp-7676-2/RXKV

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7676

Aufgabe 1
Berechne.

a) 218 + 8 = 226
d) 557 + 4 = 561
g) 471 + 9 = 480
i) 525 + 7 = 532

Aufgabe 2
Berechne.

a) 55 + 60 = 115
d) 56 + 40 = 96

¢) 98 + 82 = 180
i) 63 + 44 = 107

Aufgabe 3

Berechne.

a) 41 +5 = 46
d) 64+ 1 =65
g) 9247 = 99

Aufgabe 4

Berechne.

a) 473 4+ 9 = 482
d) 599 + 4 = 603
g) TI8 + 7 = 725
i) 778 + 3 = 781

Viel Erfolg!
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b) 298 + 7 = 305
¢) 638 + 3 = 641
h) 977 + 4 = 981

b) 52 + 30 = 82
e) 46 + 69 = 115
h) 50 + 76 = 126
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b) 917 + 3 = 920
e) 745 4+ 5 = 750
h) 732 + 8 = 740

Seite 1

¢) 556 + 8 = 564
£) 882 + 9 = 891
i) 627 4+ 3 = 630

¢) T4 + 78 = 152
£) 44 + 23 = 67
i) 75 + 50 = 125

¢) 509 4+ 9 = 518
£) 915 + 9 = 924
i) 324 4+ 9 = 333
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